S = AHXgAd i f:od{d?

(1— 2
b— c:‘m%i _%zd—:;,_

() oAl STea C.g,gm,—r:._’rg,eﬁ(‘ QQVQ/QTJ)
BRI [Faﬁ?' CT ,%,%)

S. g%‘ 97’;!6%0/ JE ?—’q’?’z’j’ -

(;) p}P—] SAH_
C;.l) AU | aIUJ;

1!;) mf r Itf‘id"‘
C” — =

£ = ATl Q _

(;) ;J%TC.?) mﬁ—
&:.') >7(]7%I -W%'T"
C;;)-‘ 7% Dﬂ.;jéf‘




eV i E]
=/
HIPd

Vofea @E Qesvosr, aPimm gt Sear g

5> Pedar  whi)
£ Bz ST () )9779{—}—{5:’!‘: () IéTZ +IBHA (i) /;'vﬂt.yﬁ-;,_-

'

() 033:251" v—l.m:d /

?, ) Wy AL At
(P c_)P_'—r 1K (_n)‘__!j?'-}'ﬂ”: ). %3

(5T) BT 37 At |

. ] ‘V) O'TT+ zld".'

T (v 82 4T3

0 Baia 3k gwmg R i g —
(h) ST HATHT Slz% ;% /
(nw azl




	sanskrit worksheet class VIpg1
	sanskrit worksheet class VIpg2

